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Test Series: March 2021  

MOCK TEST PAPER –1   

INTERMEDIATE (NEW) COURSE: GROUP – I 

PAPER – 3: COST AND MANAGEMENT ACCOUNTING  

Answers are to be given only in English except in the case of the candidates who have opted for Hindi medium. If 

a candidate has not opted for Hindi medium his/ her answer in Hindi will not be valued. 

Question No. 1 is compulsory. 

Attempt any four questions from the remaining five questions. 

Working notes should form part of the answer. 

Time Allowed – 3 Hours Maximum Marks – 100 

1.  Answer the following: 

 (a) The labour turnover rates for the quarter ended 30th September, 2020 are computed as 14%, 8% 

and 6% under Flux method, Replacement method and Separation method respectively. If the 

number of workers replaced during 2nd quarter of the financial year 2020-21 is 36, COMPUTE the 

following:  

 (i) The number of workers recruited and joined; and  

 (ii)  The number of workers left and discharged. 

(b)  A manufacturing company disclosed a net profit Rs. 10,20,000 as per their cost accounts for the 

year ended 31st March 2021. The financial accounts however disclosed a net profit of Rs. 6,94,000 

for the same period. The following information was revealed as a result of scrutiny of the figures of 

both the sets of accounts. 

 (Rs.) 

(i)  Factory Overheads under-absorbed 80,000 

(ii)  Administration Overheads over-absorbed 1,20,000 

(iii)  Depreciation charged in Financial Accounts 6,50,000 

(iv)  Depreciation charged in Cost Accounts 5,50,000 

(v)  Interest on investments not included in Cost Accounts 1,92,000 

(vi)  Income-tax provided 1,08,000 

(vii)  Interest on loan funds in Financial Accounts 4,90,000 

(viii)  Transfer fees (credit in financial books) 48,000 

(ix)  Stores adjustment (credit in financial books) 28,000 

(x)  Dividend received 64,000 

 PREPARE a Reconciliation statement. 

(c)  A company manufactures 10,000 units of a product per month. The cost of placing an order is Rs. 

200. The purchase price of the raw material is Rs. 20 per kg. The re-order period is 4 to 8 weeks. 

The consumption of raw materials varies from 200 kg to 900 kg per week, the average consumption 

being 550 kg. The carrying cost of inventory is 20% per annum.  

 You are required to CALCULATE:  

(i)  Re-order quantity  

(ii) Re-order level  
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(iii)  Maximum level  

(iv) Minimum level  

(v)  Average stock level 

(d) AK Ltd. has furnished the following standard cost data per unit of production: 

Material 10 kg @ Rs. 100 per kg. 

Labour 6 hours @ Rs. 55 per hour 

Variable overhead 6 hours @ Rs. 100 per hour. 

Fixed overhead  Rs.45,00,000 per month (Based on a normal volume of 30,000  labour hrs) 

The actual cost data for the month of September 2020 are as follows: 

Material used 50,000 kg at a cost of Rs. 52,50,000. 

Labour paid Rs. 15,50,000 for 31,000 hours 

Variable overheads Rs. 29,30,000 

Fixed overheads Rs. 47,00,000 

Actual production 4,800 units. 

CALCULATE:  

(i)  Material Cost Variance. 

(ii)  Labour Cost Variance. 

(iii)  Fixed Overhead Cost Variance. 

(iv)  Variable Overhead Cost Variance. (4 × 5 Marks = 20 Marks) 

2.  (a)  MP Ltd. produces a Product-X, which passes through three processes, I, II and III. In Process-III a 

by-product arises, which after further processing at a cost of Rs. 85 per unit, product Z is produced. 

The information related for the month of September 2020 is as follows: 

 Process-I Process-II Process-III 

Normal loss 5% 10% 5% 

Materials introduced (7,000 units) 1,40,000 - - 

Materials added 62,000 1,36,000 84,200 

Direct wages 42,000 54,000 48,000 

Direct expenses 14,000 16,000 14,000 

Production overhead for the month is Rs. 2,88,000, which is absorbed as a percentage of direct 

wages. 

The scraps are sold at Rs. 10 per unit 

Product-Z can be sold at Rs. 135 per unit with a selling cost of Rs. 15 per unit 

No. of units produced: 

Process-I- 6,600; Process-II- 5,200, Process-III- 4,800 and Product-Z- 600 

There is no stock at the beginning and end of the month. 

You are required to PREPARE accounts for: 

(i) Process-I, II and III 

(ii)  By-product-Z (10 Marks) 
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(b)   The following account balances and distribution of indirect charges are taken from the accounts of 

a manufacturing concern for the year ending on 31st March 2021:  

Item 
Total Amount Production Departments 

 

Service Departments 

 (Rs.) X (Rs.) Y (Rs.) Z (Rs.) A (Rs.) B (Rs.) 

Indirect Material 2,50,000 40,000 60,000 90,000 50,000 10,000 

Indirect Labour 5,20,000 90,000 1,00,000 1,40,000 1,20,000 70,000 

Supervisor's Salary 1,92,000 - - 1,92,000 - - 

Fuel & Heat 30,000      

Power 3,60,000      

Rent & Rates 3,00,000      

Insurance 36,000      

Canteen Charges 1,20,000      

Depreciation 5,40,000      

 The following departmental data are also available: 

 Production Departments Service Departments 

 X Y Z A B 

Area (Sq. ft.) 4,400 4,000 3,000 2,400 1,200 

Capital Value of Assets 

(Rs.) 
40,00,000 60,00,000 50,00,000 10,00,000 20,00,000 

Kilowatt Hours 3,500 4,000 3,000 1,500 - 

Radiator Sections 20 40 60 50 30 

No. of Employees 60 70 120 30 20 

 Expenses charged to the service departments are to be distributed to other departments by the 

following percentages: 

 X Y Z A B 

Department A (%) 30 30 20 - 20 

Department B (%) 25 40 25 10 - 

 PREPARE an overhead distribution statement to show the total overheads of production 

departments after re-apportioning service departments' overhead by using simultaneous equation 

method. Show all the calculations to the nearest rupee. (10 Marks) 

3.  (a)  The information of Z Ltd. for the year ended 31st March 2021 is as below: 

 Amount (Rs.) 

Direct materials 17,50,000 

Direct wages 12,50,000 

Variable factory overhead 9,50,000 

Fixed factory overhead 12,00,000 

Other variable costs 6,00,000 

Other fixed costs 4,00,000 
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Profit 8,50,000 

Sales 70,00,000 

 During the year, the company manufactured two products, X and Y, and the output and cost were: 

 X Y 

Output (units) 8,000 4,000 

Selling price per unit (Rs.) 600 550 

Direct material per unit (Rs.) 140 157.50 

Direct wages per unit (Rs.) 90 132.50 

 Variable factory overheads are absorbed as a percentage of direct wages and other variable costs 

are computed as: 

 Product X – Rs. 40 per unit and Product Y- Rs. 70 per unit. 

 For the FY 2021-22, it is expected that demand for product X and Y will fall by 20% & 10% 

respectively. It is also expected that direct wages cost will raise by 20% and other fixed costs by 

10%. Products will be required to be sold at a discount of 20%. 

 You are required to: 

(i)  PREPARE profitability statement for the FY 2020-21 and  

(ii)  PREPARE a budget for the FY 2021-22.          (10 Marks) 

(b)  GMCS Ltd. collects raw milk from the farmers of Ramgarh, Pratapgarh and Devgarh panchayats 

and processes this milk to make various dairy products. GMCS Ltd. has its own vehicles (tankers) 

to collect and bring the milk to the processing plant. Vehicles are parked in the GMCS Ltd.'s garage 

situated within the plant compound. Following are the information related with the vehicles:  

 Ramgarh Pratapgarh Devgarh 

No. of vehicles assigned 4 3 5 

No. of trips a day 3 2 4 

One way distance from the processing plant 24 k.m. 34 k.m. 16 k.m. 

Fess & taxes per month (Rs.) 5,600 6,400 --- 

All the 5 vehicles assigned to Devgarh panchayat, were purchased five years back at a cost of  

Rs. 9,25,000 each. The 4 vehicles assigned to Ramgarh panchayat, were purchased two years 

back at a cost of Rs. 11,02,000 each and the remaining vehicles assigned to Pratapgarh were 

purchased last year at a cost of Rs. 13,12,000 each. With the purchase of each vehicle a two years 

free servicing warranty is provided.  A vehicle gives 10 kmpl mileage in the first two year of 

purchase, 8 kmpl in next two years and 6 kmpl afterwards.  The vehicles are subject to depreciation 

of 10% p.a. on straight line basis irrespective of usage. A vehicle has the capacity to carry 10,000 

litres of milk but on an average only 70% of the total capacity is utilized.  

The following expenditures are related with the vehicles: 

Salary of Driver (a driver for each vehicle)  Rs. 24,000 p.m. 

Salary to Cleaner (a cleaner for each vehicle) Rs. 12,000 p.m. 

Allocated garage parking fee Rs. 4,200 per vehicle per month 

Servicing cost  Rs. 15,000 for every complete 5,000 k.m. run. 

Price of diesel per litre  Rs. 78.00 
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From the above information you are required to CALCULATE 

(i)  Total operating cost per month for each vehicle. (Take 30 days for the month)  

(ii)  Vehicle operating cost per litre of milk. (10 Marks) 

4.  (a)  A Ltd. has the following expenditures for the year ended 31st March 2021: 

Sl. 
No. 

 Amount 
(Rs.) 

Amount (Rs.) 

(i) Raw materials purchased  10,00,00,000 

(ii) Freight inward  11,20,600 

(iii) Wages paid to factory workers  29,20,000 

(iv) Royalty paid for production  1,72,600 

(v) Amount paid for power & fuel  4,62,000 

(vi) Job charges paid to job workers  8,12,000 

(vii) Stores and spares consumed  1,12,000 

(viii) Depreciation on office building  56,000 

(ix) Repairs & Maintenance paid for: 

- Plant & Machinery 

 

48,000 

 

 - Sales office building 18,000 66,000 

(x) Insurance premium paid for:   

 - Plant & Machinery 31,200  

 - Factory building 18,100 49,300 

(xi) Expenses paid for quality control check activities  19,600 

(xii) Research & development cost paid for improvement in 
production process 

 18,200 

(xiii) Expenses paid for pollution control and engineering & 
maintenance 

 26,600 

(xiv) Salary paid to Sales & Marketing mangers:  10,12,000 

(xv) Salary paid to General Manager  12,56,000 

(xvi) Packing cost paid for:   

 - Primary packing necessary to maintain quality 96,000  

 - For re-distribution of finished goods 1,12,000 2,08,000 

(xvii) Fee paid to independent directors  2,20,000 

(xviii) Performance bonus paid to sales staffs  1,80,000 

(xix) Value of stock as on 1st April, 2020:   

 - Raw materials 18,00,000  

 - Work-in-process 9,20,000  

 - Finished goods 11,00,000 38,20,000 

(xx) Value of stock as on 31st March, 2021:   

 - Raw materials 9,60,000  

 - Work-in-process 8,70,000  

 - Finished goods 18,20,000 36,50,000 
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 Amount realized by selling of scrap and waste generated during manufacturing process –  

Rs. 86,000/- 

 From the above data you are requested to PREPARE Statement of cost for A Ltd. for the year 

ended 31st March, 2021, showing (i) Prime cost, (ii) Factory cost, (iii) Cost of Production, (iv) Cost 

of goods sold and (v) Cost of sales.         (10 Marks) 

(b) ABY Ltd. manufactures four products, namely A, B, C and D using the same plant and proce ss.  

The following information relates to production period December, 2020: 

Product  A B C D 

Output in units 1,440 1,200 960 1,008 

Cost per unit:     

Direct Materials Rs. 84 Rs. 90 Rs. 80 Rs. 96 

Direct Labour Rs. 20 Rs. 18 Rs. 14 Rs. 16 

Machine hours per unit 4 3 2 1 

 The four products are similar and are usually produced in production runs of 48 units per batch and 

are sold in batches of 24 units.  Currently, the production overheads are absorbed using machine 

hour rate.  The production overheads incurred by the company for the period December, 2020 are 

as follows: 

 (Rs.) 

Machine department costs:  

Rent, deprecation and supervision 2,52,000 

Set-up Costs 80,000 

Store receiving costs 60,000 

Inspection 40,000 

Material handling and dispatch 10,368 

 During the period December, 2020, the following cost drivers are to be used for allocation of 

overheads cost: 

Cost Cost driver 

Set-up Costs Number of production runs (batches) 

Stores receiving  Requisition raised 

Inspection Number of production runs (batches) 

Material handling and dispatch Orders executed 

 It is also determined that: 

(i)  Machine department costs should be apportioned among set -up, stores receiving and 

inspection activities in proportion of 4 : 3 : 2. 

(ii) The number of requisitions raised on stores is 50 for each product.  The total number of 

material handling and dispatch orders executed during the period are 192 and each order 

being for a batch size of 24 units of product. 

Required: 

(i) CALCULATE the total cost of each product, if all overhead costs are absorbed on machine -

hour rate basis. 

(ii) CALCULATE the total cost of each product using activity-based costing. (10 Marks) 
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5. (a) The following information has been obtained from the records of a manufacturing unit: 

 Rs. Rs. 

Sales 80,000 units @ Rs. 50  40,00,000 

Material consumed  16,00,000  

Variable Overheads 4,00,000  

Labour Charges 8,00,000  

Fixed Overheads 7,20,000 35,20,000 

Net Profit  4,80,000 

 CALCULATE: 

(i) The number of units by selling which the company will neither lose nor gain anything.  

 (ii) The sales needed to earn a profit of 20% on sales. 

(iii) The extra units which should be sold to obtain the present profit if it is proposed to reduce the 

selling price by 20% and 25%. 

(iv) The selling price to be fixed to bring down its Break-even Point to 10,000 units under present 

conditions. (10 Marks) 

 (b) (i)  A Ltd. is an engineering manufacturing company producing job orders on the basis of 

specifications provided by the customers. During the last month it has completed three jobs 

namely A, B and C. The following are the items of expenditures which are incurred in addition 

to direct materials and direct employee cost: 

(i) Office and administration cost - Rs. 6,00,000 

(ii) Product blueprint cost for job A - Rs. 2,80,000 

(iii)  Hire charges paid for machinery used in job work B - Rs. 80,000 

(iv)  Salary to office attendants - Rs. 1,00,000 

(v)  One time license fee paid for software used to make computerised graphics for job C -  

Rs. 1,00,000. 

(vi)  Salary paid to marketing manager - Rs. 2,40,000. 

 Required: 

 CALCULATE direct expenses attributable to each job. 

(ii)  A jobbing factory has undertaken to supply 200 pieces of a component per month for the 

ensuing six months. Every month a batch order is opened against which materials and labour 

hours are booked at actual. Overheads are levied at a rate per labour hour. The selling price 

contracted for is Rs. 80 per piece. From the following data COMPUTE the cost and profit per 

piece of each batch order and overall position of the order for 1,200 pieces.  

Month Batch Output 

(Pieces) 
Material cost Direct wages Direct labour 

(Rs.) (Rs.) (Hours) 

January 210 6,500 1,200 240 

February 200 6,400 1,400 280 

March 220 6,800 1,500 280 

April 180 6,300 1,400 270 

May 200 7,000 1,500 300 

June 220 7,200 1,600 320 

 

© The Institute of Chartered Accountants of India

Downloaded from castudyweb.com



8 

 The other details are: 

Month Chargeable expenses Direct labour 

(Rs.) hours 

January 1,20,000 4,800 

February 1,05,600 4,400 

March 1,20,000 5,000 

April 1,05,800 4,600 

May 1,30,000 5,000 

June 1,20,000 4,800 

        (2 × 5 = 10 Marks) 

6. (a)  DISCUSS the Net Realisable Value (NRV) method of apportioning joint costs to by-products. 

 (b) DIFFERENCIATE between Service costing and Product costing. 

 (c) DISCUSS the Controllable and un-controllable variances. 

 (d)  DISCUSS the Standard and Discretionary Cost Centres. (4 × 5 = 20 Marks) 
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